


➢ Outline :-

Solved exercises for Normal distribution 

LECTURE  14#



Solved exercises

1- Let Z denote a normal random variable with mean 0 and standard deviation 1.

Solution : a ) Since µ = 0 and σ = 1, then  , P ( Z > 2 ) = 1-P(Z≤ 2) = 1 − 0.9772 =. 

0228.

b) 2P(Z≤ 2)-1=0.9544

c) P(Z≤ 1.73) -P(Z≤ 0)= 0.9582-0.5=0.5482

2- If Z is a standard normal random variable, find the value 𝑧0such that:

By SND table



Solved exercises
Solution : a) P ( Z > 𝑧0 ) = 1-P(Z≤ 𝑧0) = 0.5 P(Z≤ 𝑧0) = 0.5 𝑧0 = 0



Solved exercises
Solution : b) P(Z< 𝑧0) = 0.8643 𝑧0=1.10 (by table)

c) P (− 𝑧0 < Z < 𝑧0 ) = . 90 2 P(Z< 𝑧0) − 1 = 0.90 P(Z< 𝑧0) = 0.95

Thus, 𝑧0=1.645

3) company that manufactures and bottles apple juice uses a machine that

automatically fills 16-ounce bottles. There is some variation, however, in the

amounts of liquid dispensed into the bottles that are filled. The amount dispensed

has been observed to be approximately normally distributed with mean 16 ounces

and standard deviation 1 ounce. Use Table of SND, to determine the proportion of

bottles that will have more than 17 ounces dispensed into them.

Solution: 

Note that the value 17 is (17 – 16)/1 = 1 standard deviation above the mean.   

So, P(Z > 1) = .1587.

Transform the value 17 to SND



SEE YOU IN THE NEXT 

LECTURE


